SONIC " =XT 50NIC

#4738110

Instructions
NEXT S1 service cart

=1
——J
Eln;gI'?C,;ENT ig%’—‘ﬂist’:mEﬁrﬁBV 2 Sonic Equipment
1446 WP Purmerenc ! [6) sonic.equipment —_—r
WORK Elcﬁst;;:izisﬂﬂn o Sonic Equipment Global § I 2
WITH SONIC ogsonic squpmentcom @ sovceaspmentey
SONIC-EQUIPMENT.COM SONIC-EQUIPMENT.COM

onic manual I NEXT S1 Service cartindd 1-2 @ 18-12-2023 19:24



50NIC

’

’
@]

Post

Bottom tray welding body

Fix caster

Swivel caster

NM=XT

Top tray welding body

/ MB6x16 Big flat head hex screw

-,

Middle tray welding body

\ Handle

4 e

\ Washer

\ Spring washer (28)

Bolts (M8x20)

Contents:

1x Bottom tray welding body
1x Middle tray welding body
1x Top tray welding body

Ix Handle

2x Fixed caster

2x Swivel caster

4x Post

16x Washer

16x spring washer

16x M8x20 Bolt

48x Mbx16 Big flat head hex screw

2 | SONIC-EQUIPMENT.COM

Sonic manual NEXT S1 Service cart.indd 3-4

q]
Post
B
~
s
N ¢
N
o~ ~

Bottom tray welding body

s ’i . MBXI6 big flat head hex screw
) RSN /

.
Fix caster S
Swivel caster
% Washer
‘\ Spring washer (28)
Bolts (M8x20)
Middle tray welding body
MB6x16 big flat head
hex screw

Top tray welding body

M6x16 big flat head

hex screw
-

-

M6x16 Big flat head hex
/ screw

A
%

PN

Handle

SONIC-EQUIPMENT.COM

| 3

18-12-2023 19:24



